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	01.
	Which will be the plural form of ‘wolf’?

	(C)
	(A)
	wolfes

	
	(B)
	wolfs

	
	(C)
	wolves

	
	(D)
	none of the above

	
	
	

	02.
	Which of the following words is in plural form?

	(A)
	(A)
	Data

	
	(B)
	Table

	
	(C)
	Report

	
	(D)
	Form

	
	
	

	03.
	Which one is plural in number?

	(B)
	(A)
	Datum

	
	(B)
	Agenda

	
	(C)
	Memorandum

	
	(D)
	None of these are plural

	
	
	

	04.
	Which of the following words is in plural form?

	(A)
	(A)
	Agenda

	
	(B)
	Expense

	
	(C)
	Every

	
	(D)
	None of these 

	
	
	

	05.
	Which of the following words is in plural?

	(D)
	(A)
	Anybody

	
	(B)
	Nobody 

	
	(C)
	Each 

	
	(D)
	None of these 

	
	
	

	06.
	The plural form of ‘Stratum’?

	(D)
	(A)
	Stratumes

	
	(B)
	Stratus

	
	(C)
	Stratums

	
	(D)
	Strata

	
	(E)
	Stratras

	
	
	

	07.
	Which is the plural form of ‘Mouse’?

	(C)
	(A)
	Mousse

	
	(B)
	Mouse

	
	(C)
	Mice

	
	(D)
	Mices

	
	(E)
	Mousess

	
	
	

	08.
	The plural form of the ‘Focus’?

	(C)
	(A)
	Focu

	
	(B)
	Focus

	
	(C)
	Foci

	
	(D)
	Focis

	
	(E)
	Focuses

	
	
	

	09.
	Which is not a singular number?

	(A)
	(A)
	Agenda

	
	(B)
	Datum

	
	(C)
	Every

	
	(D)
	Each

	
	
	

	10.
	Identify the plural in the sentence “The report contains data from a secondary source”.

	(C)
	(A)
	Secondary

	
	(B)
	Contains

	
	(C)
	Data

	
	(D)
	None of these

	
	
	

	11.
	Which one is plural?

	(D)
	(A)
	Each

	
	(B)
	Someone

	
	(C)
	Anyone

	
	(D)
	None of these

	
	
	

	12.
	What is the singular form of the world ‘alumni’?

	(A)
	(A)
	alumnus

	
	(B)
	alumnae

	
	(C)
	alumni

	
	(D)
	aluminum

	
	(E)
	none of the above

	
	
	

	13.
	Which of the following words is not in the plural form?

	(B)
	(A)
	Data

	
	(B)
	Radius

	
	(C)
	Phenomena

	
	(D)
	Curricula

	
	
	

	14.
	A word that takes the place of noun is called ______.

	(D)
	(A)
	Subject

	
	(B)
	Verb

	
	(C)
	Object

	
	(D)
	Pronoun

	
	
	

	15.
	A pronoun takes the place of noun is called ______.

	(D)
	(A)
	Antecedent

	
	(B)
	Verb

	
	(C)
	Subject

	
	(D)
	Noun

	
	
	

	16.
	“Norms are society’s do’s and don’ts:- the word ‘do’s in this sentence is a/an:

	(B)
	(A)
	Verb 

	
	(B)
	Noun

	
	(C)
	Adjective

	
	(D)
	Adverb

	
	
	

	17.
	A noun that names a general class of persons, place or things is a.

	(D)
	(A)
	Proper noun

	
	(B)
	General noun

	
	(C)
	Perfect noun

	
	(D)
	Common noun

	
	
	

	18.
	Which of the following is not a common noun?

	(C)
	(A)
	Man

	
	(B)
	River

	
	(C)
	Chittagong

	
	(D)
	Village

	
	
	

	19.
	Which is the ‘noun’ of the verb ‘Depart’?

	(E)
	(A)
	Departed

	
	(B)
	Department

	
	(C)
	Departing

	
	(D)
	Deportation

	
	(E)
	Departure

	
	
	

	20.
	Noun of the word 'See' is-

	(D)
	(A)
	Sought

	
	(B)
	Seen

	
	(C)
	Scene

	
	(D)
	Sight

	
	
	

	21.
	Identify the adjective in the sentence “She is a brave woman”

	(C)
	(A)
	She

	
	(B)
	is

	
	(C)
	brave

	
	(D)
	none of these

	
	
	

	22.
	Identify the adjective in the sentence “The last chapter is carelessly written”.

	(A)
	(A)
	last

	
	(B)
	chapter

	
	(C)
	carelessly

	
	(D)
	written

	
	
	

	23.
	“His solution to the problem was noble” – the adjective in this sentence is:

	(D)
	(A)
	His

	
	(B)
	approach

	
	(C)
	problem

	
	(D)
	noble

	
	
	

	24.
	“Quickly present the awards among the meritorious students” – the adjective in this sentence is:

	(B)
	(A)
	Quickly

	
	(B)
	meritorious

	
	(C)
	present

	
	(D)
	awards

	
	
	

	25.
	Which of the following is not an adjective?

	(D)
	(A)
	Humble

	
	(B)
	Humane

	
	(C)
	Humid

	
	(D)
	Humor

	
	
	

	26.
	Which of the following is not an adjective?

	(A)
	(A)
	The

	
	(B)
	Good

	
	(C)
	Clever

	
	(D)
	Nice

	
	
	me adjective Z‡e G‡¶‡Î Ans.(A) n‡e 

	
	
	

	27.
	Which of the following words is not an adjective?

	(D)
	(A)
	Some

	
	(B)
	The

	
	(C)
	Old

	
	(D)
	None of these

	
	
	

	28.
	Verb of the word 'Danger' is-

	(C)
	(A)
	Dangerfull

	
	(B)
	Dangerous

	
	(C)
	Endanger

	
	(D)
	Dangered

	
	
	

	29.
	Which is the ‘verb’ of the word ‘shortly’?

	(C)
	(A)
	Short

	
	(B)
	Shorter

	
	(C)
	Shorten

	
	(D)
	Shortness

	
	
	

	30.
	The ‘verb’ of the word ‘Symbol’ is:

	(A)
	(A)
	Symbolize

	
	(B)
	Symbolic

	
	(C)
	Symbolical

	
	(D)
	Symbolically

	
	(E)
	Symbol

	
	
	

	31.
	Identify the ‘verb’ in the sentence, “May God be with you”.

	(B)
	(A)
	May

	
	(B)
	be

	
	(C)
	with

	
	(D)
	none of these

	
	
	

	32.
	Which is the ‘verb’ in the sentence, “We thank you”?

	(B)
	(A)
	you

	
	(B)
	thank

	
	(C)
	We

	
	(D)
	none of these

	
	
	

	33.
	Find the ‘verb’ in the sentence, “This is a book”?

	(B)
	(A)
	This

	
	(B)
	is

	
	(C)
	a

	
	(D)
	none of these

	
	
	

	34.
	Identify the adverb in the sentence “The old man was running fast”.

	(D)
	(A)
	old

	
	(B)
	The

	
	(C)
	running

	
	(D)
	fast

	
	
	

	35.
	The word ‘fast’ in the sentence – “The deadline was first approaching”, is a/an:

	(D)
	(A)
	Verb

	
	(B)
	Noun

	
	(C)
	Adjective

	
	(D)
	Adverb

	
	
	

	36.
	An adverb usually answers which of the following questions?

	(D)
	(A)
	When

	
	(B)
	Where

	
	(C)
	How

	
	(D)
	All of these

	
	
	

	37.
	Point out the sentence with correct use of adverb-

	(B)
	(A)
	Write the essay in brief.

	
	(B)
	Write the essay briefly.

	
	(C)
	Write the essay in short.

	
	(D)
	Write the essay shortly.

	
	
	

	38.
	The subject in the sentence, “Report to your boss” is:

	(B)
	(A)
	We

	
	(B)
	You

	
	(C)
	He

	
	(D)
	They

	
	
	

	39.
	Which word is the subject in the sentence, ‘Nazrul was a great poet’?

	(A)
	(A)
	Nazrul

	
	(B)
	Was 

	
	(C)
	Great

	
	(D)
	Poet

	
	
	

	40.
	In English grammar, how many essential parts must every sentence have?

	(B)
	(A)
	One

	
	(B)
	Two

	
	(C)
	Three

	
	(D)
	There is no hard & fast rule

	
	
	

	41.
	The tense of a verb is related to which of the following?

	(B)
	(A)
	Person 

	
	(B)
	Time

	
	(C)
	Place

	
	(D)
	Degree

	
	
	

	42.
	The number of parts of speech in English grammar is ______.

	(D)
	(A)
	2

	
	(B)
	4

	
	(C)
	6

	
	(D)
	8

	
	
	

	43.
	Which mood is used to express a wish?

	(A)
	(A)
	Subjunctive

	
	(B)
	Imperative

	
	(C)
	Indicative

	
	(D)
	None of these

	
	
	

	44.
	Which mood is used to express a wish or a situation contrary to fact?

	(A)
	(A)
	Subjunctive

	
	(B)
	Imperative

	
	(C)
	Indicative

	
	(D)
	None of these

	
	
	

	45.
	Words that join noun or pronoun objects to other words in the sentence are called-

	(A)
	(A)
	Conjunction

	
	(B)
	Adverb

	
	(C)
	Preposition

	
	(D)
	Adjectives

	
	
	

	46.
	‘Among’ is a preposition that is used when ______ persons are involved.

	(C)
	(A)
	One

	
	(B)
	Two

	
	(C)
	Three or more

	
	(D)
	None of these

	
	
	

	47.
	‘Among’ is a preposition that is used when ______ people are involved.

	(D)
	(A)
	One

	
	(B)
	Two

	
	(C)
	Four

	
	(D)
	More than two

	
	
	

	48.
	A sentence is a group of a words that expresses a complete-

	(B)
	(A)
	Fragment

	
	(B)
	Thought

	
	(C)
	Predicate

	
	(D)
	Paragraph

	
	
	

	49.
	When a person is ‘in deep water’ she/he is ______.

	(C)
	(A)
	Profound

	
	(B)
	Busy

	
	(C)
	In trouble

	
	(D)
	Confused

	
	
	

	50.
	Gerund is similar to ______.

	(A)
	(A)
	Noun

	
	(B)
	Adjective

	
	(C)
	Verb

	
	(D)
	Adverb

	
	
	

	51.
	Which punctuation mark is used to indicate a major break or pause?

	(D)
	(A)
	“ , “

	
	(B)
	“ ; “

	
	(C)
	“ : ”

	
	(D)
	“ . ”

	
	
	

	52.
	When a noun shows ownership, authorship, brand, kind, origin or measurement, a (an)            added to it.

	 (D)
	(A)
	(.)

	
	(B)
	(;)

	
	(C)
	(,)

	
	(D)
	(')

	
	
	

	53.
	I cannot carry out verbal order. What is the opposite of verbal?

	(A)
	(A)
	Black and White

	
	(B)
	Mouth

	
	(C)
	Polite

	
	(D)
	Harsh 

	
	
	

	54.
	The plurals of letter, numeral, sign, symbol, abbreviation and individual word are formed by adding-

	 (D)
	(A)
	S

	
	(B)
	Es

	
	(C)
	’s

	
	(D)
	All of the above

	
	
	

	55.
	Which of the following is not a meaning of the word ‘mean’

	(D)
	(A)
	Intend

	
	(B)
	Bad-tempered

	
	(C)
	Shabby

	
	(D)
	None of these

	
	
	

	56.
	The patient had died before the doctor came.

	(C)
	(A)
	Past and present

	
	(B)
	Present perfect

	
	(C)
	Past perfect

	
	(D)
	Past perfect continuous

	
	
	

	57.
	How time does fly! (Make it Assertive)

	(A)
	(A)
	Time flies very fast.

	
	(B)
	Time flies.

	
	(C)
	Time flies now and then.

	
	(D)
	Time passes away.

	
	
	

	58.
	Which one of the following is a complex sentence?

	(C)
	(A)
	If I knew this before!

	
	(B)
	Do you not repent for this?

	
	(C)
	I know why he is silent.

	
	(D)
	He came home last night.

	
	
	

	59.
	Choose the correct tense.

	(B)
	(A)
	They are digging the canal for a week.

	
	(B)
	They have been digging the canal for a week.

	
	(C)
	They had dug the canal for a week.

	
	(D)
	They dig the canal for a week.

	
	
	

	60.
	I said to him, “Is he a doctor?”-Turn into indirect speech.

	(C)
	(A)
	I said to him that whether he was a doctor.

	
	(B)
	I said to him whether he was a doctor.

	
	(C)
	I asked him whether he was a doctor.

	
	(D)
	I asked him whether he is a doctor.

	
	
	

	61.
	The teacher said to his pupils, “Stand up”-Turn into indirect speech.

	(B)
	(A)
	The teacher said to his pupils to stand up.

	
	(B)
	The teacher ordered his pupils to stand up.

	
	(C)
	The teacher said to his pupils whether they stand up.

	
	(D)
	The teacher requested his pupils to stand up.

	
	
	

	62.
	Choose the correct form (passive) of “Who will do the work?”

	(C)
	(A)
	Whom will the work be done?

	
	(B)
	Who will done the work?

	
	(C)
	By whom will the work be done?

	
	(D)
	By whom will the work do?

	
	
	

	63.
	The old sailor saw a ship coming towards them. (Make it passive)

	(D)
	(A)
	The old sailor saw a ship to come towards them.

	
	(B)
	A ship was sea coming towards them by the old sailor.

	
	(C)
	A ship was coming towards the old sailor.

	
	(D)
	A ship was seen coming towards them by the old sailor.

	
	
	

	64.
	Choose the right form of verb: Three-fourths of the road (to be) pitched.

	(C)
	(A)
	Three-fourths of the road is pitched.

	
	(B)
	Three-fourths of the road were pitched.

	
	(C)
	Three-fourths of the road has been pitched.

	
	(D)
	Three-fourths of the road was pitched.

	
	
	

	65.
	Which is the correct sentence transformed according to the direction of the following sentence? “None should deny the truth” (Affirmative)

	(C)
	(A)
	Everybody should deny the truth.

	
	(B)
	All should accept the truth.

	
	(C)
	Everybody should admit the truth.

	
	(D)
	Anybody should admit the truth.

	
	
	

	66.
	Which of the following sentences is grammatically more appropriate?

	(D)
	(A)
	He earns double than I do.

	
	(B)
	He earns two times I do.

	
	(C)
	He earns double my earnings.

	
	(D)
	He earns twice as much as I do.

	
	(E)
	He earns twice my earnings.

	
	
	

	67.
	Fill in the gaps with appropriate idiom and phrase: I know nothing about the language; it is all ______ to me.

	(C)
	(A)
	English 

	
	(B)
	Bengali

	
	(C)
	Greek

	
	(D)
	Hindi

	
	
	

	68.
	What is straw vote?

	(A)
	(A)
	Public opinion

	
	(B)
	Random vote

	
	(C)
	Yes/no vote

	
	(D)
	Manipulated vote

	
	
	

	69.
	‘Pediatric’ relates to-

	(B)
	(A)
	Adult

	
	(B)
	Children

	
	(C)
	Women

	
	(D)
	Man

	
	
	

	70.
	Many islands make up-

	(C)
	(A)
	An isles

	
	(B)
	A peninsula

	
	(C)
	An archipelago 

	
	(D)
	A continent

	
	
	Archipelago-ØxccyÄ

	
	
	

	71.
	A patriot is-

	(A)
	(A)
	Who loves his country.

	
	(B)
	Who loves his family.

	
	(C)
	Who loves his comrades.

	
	(D)
	Who loves his children.

	
	
	

	72.
	‘You should show good manners in the company of ladies’ choose appropriate phrase for the above-

	(C)
	(A)
	Behave gently

	
	(B)
	Practice manners

	
	(C)
	Behave yourself

	
	(D)
	Do not talk rudely

	
	
	

	73.
	Which sentence has the correct use of if?

	(C)
	(A)
	I have not settled the question of it I’ll go back home.

	
	(B)
	They can’t decide if to get married now or wait.

	
	(C)
	I am not sure if I shall have time.

	
	(D)
	Are you happy?

	
	
	

	74.
	Find the correct use of with:

	(A)
	(A)
	My father has trembling with range.

	
	(B)
	I am cross with you.

	
	(C)
	She was very patient with me.

	
	(D)
	She was very nice with me.

	
	
	

	75.
	Find the correct use of far:

	(A)
	(A)
	How far did you walk?

	
	(B)
	The youth hostel is not far from here.

	
	(C)
	We walked far.

	
	(D)
	It is ready as far as I know.

	
	
	

	76.
	Which of the following is not a meaning of the word “Rural”?

	(E)
	(A)
	Country

	
	(B)
	Rustic

	
	(C)
	Pastoral

	
	(D)
	Bucolic

	
	(E)
	Botany

	
	
	

	77.
	Which series is correct when making a presentation?

	(A)
	(A)
	Firstly, secondly, after that, finally.

	
	(B)
	Firstly, second, nextly, finally.

	
	(C)
	Begin with, next, end with.

	
	(D)
	Firstly, second, after that, finally.

	
	(E)
	All are correct.

	
	
	

	78.
	Hasibul Hasan Shanto is an excellent player, he is an all rounder in cricket, ‘he’ 

	(B)
	(A)
	noun

	
	(B)
	pronoun

	
	(C)
	adverb

	
	(D)
	adjective

	
	
	

	79.
	A greater number of newspapers are sold in Khulna than in Bagerhat. Therefore, the people of Khulna are better informed about the major world events than the people of Bagerhat.

	(E)
	(A)
	Khulna has larger population than Bagerhat.

	
	(B)
	Most people of Bagerhat work in Khulna and buy their newspapers there.

	
	(C)
	The average citizens of Khulna spend less time reading newspapers than does the average citizen of Bagerhat.

	
	(D)
	A weekly newspaper to the coverage of local events is published in Khulna.

	
	(E)
	The average price of newspapers sold in Khulna is lower than the average price of newspapers sold in Bagerhat.


Thank you
